20120 60 140 (60 21000)
ogoood
kotaro@math.titech.ac.jp No. 1/6

gobbobuodg goobo gbo 10

oooo
e N00,0000000COO,000O00000,0C000O0O0O0ODOOOOOOOOOO
oo.
e JO0ODOOOOOOOO,0O0DODOOOOOOOOOO,0DO0DODODODOOOOO.

e NO0D0OO0ODOUOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO0O0O0O0
oooooooooobooooooooooooboobo

e JOODODDOODOOOOOOOOOOODOOODOOD. DODODUOOUOUOOOOOOOO
ooboO0o0obo,000000000O00000CO0O0O0O0O0C0O0.

e 0060 2100000000000000OO

e NO0OO0DOOOOOODOOOOOOOOOOGO 2100000000000000006
0280000000000000000O0C0COOO0OO0OOOOOCOCOOOOOOO0O0
obobooooobooooooooooooooooboOoOoOoooooDooOoboboOoOoOooooboo
ooooooo

000000000
O0Aooooo |1 [ 7]0000000000000000000000000 [350]

ogoood
3(1?1 +6$2 731’4 +2LIJ5 =2
—2x7 —4x92 + x3 =0
(%)
1 +2x9 — x4 + x5 =a

D0000000«0000000000000000 Az = b0x = {21, 22,3, 24, 750
00000000000 AD[1 DO0OD0O0O|[ 2 |000000000000 AO

oo[3]oooo

000 (x) 000000000000000000000000 [4]00000000
000000 [2]0000 ([ 5]0000000000000 (x) 000000000

{xeR’|Az=b}0[ 6 |00DDODODOOOOO[ 7 |OODOOO
00 Booooooo [2so)

(1) A=[-5] 000 detA.

1 -2 3

(2)A=|3 1 2 |000A"
|3 3 1
[1 —2 3]

3 A=|3 1 2| 000 A%2—(trA)A+ (det A)I.
|3 3 1|
(1 2 3 4
2 41

(4) A= 3 0000 det A.
341 2
41 23

(5) @ = w1, w2, 23], y = Ty1, 42,93) 0000 (@,y) := —z1y1 + w2y2 + 23ys 00000
a=11,1,-1,b=70,2,-1] 0000 (a,z)=0, (bx)=0000 xecR* 0000

gboooog



O00CO0 (1)~ (7)00000000000000000000x00000]( |]000000000
0000000 350
000000000000000

0000000000000 A= lali<i<, 00000000000000000000
000 4:=[ay)<i,<, 0000000 A*=740 ADODOOOCOOOO
0000000000000 ADDOOOODOO0O00D00A4*A=]0000000000

(1) 000 mODOD000 A, BOOOO AB = BAQ

(2) mODODOOO AD A2-34+2/=000000000000A4=7000 A=2I0
(3 00000 ADOOOOO BO AB=000000000000BOO0D0000O0O
(4 mODO0OO0 AD A*=00000000000,I-A-A20000000
(5)
(6)
(7)

5000 mOO0000 A BODODD det(A+ B) = det(A) + det(B)O

6) 000000000000 AODODO w(A*A) DO00DDOODOODOOOO

7y DoooOoboooooobob 1000 -1 0000

O0OD (0)0000000000000000000000000O0O0O0O00O00O0O0O00ODOO0O0O00
oboDoboobooooboooooooboobooboboboooooooooooooboooboOooboaon
ooooom

oooopooooo ©



20120 60 140 (60 21000)
ogoood
kotaro@math.titech.ac.jp No. 2/6

gobobuog oo obood 10

OO0AO0O0OD0 oooos0

1 2
[ 3 6 0 -3 2] [ 3 6 0 -3 2 2]
9 4 1 0 0 2 -4 1 0 0 0
1 2 0 -1 0 1 2 0-1 0 1
1 2 0 -1 1 1 2 0-1 1 a
3 4 5 6
1
4x50 “=3 3 9
7
([ 1] [ 2] (1] )
0 1 0
< 2 |+ O 4+c| 2 01,62€R>
0 0 1
1
. L 2 | O_ _0_ y

000000 (Doooooooon)

e 5. 60000000 DOODOOOOODOOOOOOODOODOOODOODOOODOODOODbOObOOOOOn
ooooboboooboobooooooo

e 7 J00OO0ODOODOOLD cODOODLOOODOODOOOODOODOOODOODOOOODODOO

o 1 000000 DOOODOOOLOOOO2000000000D0O00O0O0DOO0DLOOOOODOODDO
goboobboobobooboboobbooboooboobboobbooboboooboboon
goo

oood ooo




20120 60 140 (60 21000)
ooooo

kotaro@math.titech.ac.jp No. 3/6
Oo00ooo00o oogo oooog 20
O0BOOOO ooooso
(1) (2) (3) (4) (5)
-5 11 -7 _
- 3 87 3 5 7 t teR
6 -9 7 6 —9 20 2

gboooboboooboboobooogoo

e J0UI0DO0DODDUODUOUODODODODOOUOUOUODR% O0D0OD0O0D0O00000
00000000000000O0(l)o000UDDOOO2000(2)c 00000002000

e . 00000000 DOOUOOD 10DODO)

e 2. J00O0OO0ODOOOOODOOOLOOOODOLOODOODOOOOOO

¢ 3: 200000000 A2-(trd)A+(detA)I=00000000300000000000 00O
obooboobooboooboobobboooboobooooobooobooobooooooobooobooon

oooooon

o 4: 2800 00DO0D0O0O0DOODOLOOODODODOOOODODOODOODO

e5 (,y0ODOOODOOOO ct[1,1,2]DDDDDDDDDDDDDDDDDDDDDD 3gonoon

Lorentz-Minkowski 0 0 000 OO OO

oood

ooo




20120 60 140 (60 21000)
goooo
kotaro@math.titech.ac.jp

No. 4/6

gobobuog oo gobood 30

oocCcooog

) [*x ]

A |} Q,B: 'Y oooo aB=
3 4 0 1

1
3| pa_ |t 9
37 3 4

@ [* ]
10
A= Q]DDDDDA2—3A+2I:ODDDDD
@ [o]
AD0ODDODOO0O0OO0A'0000O0DOOOO AB=0o0DODOOOOOO A°!
00000 A™Y(4AB)=A"'o00000000000000 (A7*AB=00
00 IB=0o000000 B=00
@ [o]

X=I+A+24A2+3A300000

(I—A-A)X =T+ A+2A% + 343 - A— A% - 243 34" — A% — A3 24" —3A°
=1-5A"-34°=1.

00000 X=(—A—A2)~!

000000 (Doooooooon)

e . 0000000000 Y, auby #Y,byar 0000000000000000000 #0000
000000000000 000000000%% 000000007 000000000000000

e 2. JIIIOIOIOIOIOOIOOOOOOOOOOOOOOOOOPY=0000 P, UOOOOOO
0000000oooO00o00ooooooodg A-I=P,A-2/=Q000 ADOOOOOO

Ux dJoobobooooooo

oood ooo




20120 60 140 (60 21000)
goooo
kotaro@math.titech.ac.jp No. 5/6

gobobuog oo obood 40

oocCcoooo (Doo)

6 [* ]
m=2000 A=I1,B=-I0000 A+B=0000 det(A+ B) =00
00 detA=1,detB=(-1)2=1000 det A+ det B =20

© [0 ]
A=la;] 000 A* 0 (4,j) 000 b; 00000b; =a;000000 A*A
oo (7,]) oo Cij 0 Cij = Zbik‘aktj = Z@ak]
k=1
00 (A4 chzz%% 33
1=1 k=1 i=1 k=1
DDDDDDDDDDDDDDDDDDDDDDDDDD
M [* ]

[(|010000000000 det[d] =i+ +£10

000000 (Doooooooon)
e : JOOOODOODOOOOODOODOOOODOOOODOODOOOOODOODOOOOODODnOO

e 6: tr(AB) 0 (trA)(trB) 0000000000000A, BOODOOOOOODO0000O0O0O0O
000000 tr(AB) =tr(BA)0DOOOOO0O

o T DDDDDDDDDDDDDDDDDDDDDDDDDDdetA*:dettZ:detZ:(detA)DD
0000detADOOOO 10000000OdetA=¢e? 0000000000000000O0DODOOO
oooboooobooboooboobooooboooooboon

e O OUODOODLODLODLODLDODLODLOLULObLDOLOOOOLOObOOODLObLOObOODLODLOn
gbgbooboboobooooooboboboooboooobobobooooobobobobon
oboobooooboboooobooooooboooboobooboobobooooon

oood ooo




20120 60 140 (60 21000)
goooo
kotaro@math.titech.ac.jp No. 6/6

gobobuog oo obood si

OoooboboobocobooooboooobobouobooooDobobooboo

00D (0)j00000000000000000000O0O000O0OOO0O00O00O0O0O0ODOOOO00
gbooobooboooobooboooooooboboboboobooooboooooooDoboDbOoDbOoD
ooogoom

oono
gbobobopooooobobbooooboboboboobobob, 00 bobobobon
gbogboobooboboboobooboobuoobobboboo

obooog

0000 0000000000000000000000000000000000000000000000000
ooooo

00000 000000000000000000000000000000

e JOOOOOOOOODOOO

e JO0ODOOODOOOOODOODODOOOODDOOODOOODOOODODOODDODOODDOOODDOOOD
goboooobobooooooobooooobooooooooo

e JOODOOODODO
gooooobooooob coobo1100000b00O0b0 sb00bOO0oOoboboOoooo

e JO00OUOODOOODOUDODULODOOUDLODODOUDOOULUDDODODOO

e OO0 SOO0OOOOOOLUDLOOOOOOOOOOOUDLOSOOOOODOOOODLOOOODOOOODOO
e JO0OO0OOODOCOOODOOOUOOOODLOOOOLODOOOLDOOOOOOODOOOO

e JO0OOOODODOODOOOOOODOOOODO

gbooooobodo ooboooooobooooboooooboOoOobooboOoooDoon
e JO0O0OOODODOODOOUDODOOODOOODOOODO
e JOOOOODOOOODOOOOOODOOOOOOODDOO

e 000D ODODOOOODO1,0000200000 300000400000 5K0000000000000
gobooooboooobobooooooooooon

e JO0OO0OOOIOOOLUDLOCOUOUDOOUDOOOLOOOOULOOLOOLOOOOLUOOOLUDOOOODOOOO
gooooooooobooooo

e JO0OOOOUDOOOLUDOOUOOOOLODLOOULODOOOLOOOUOLOOLUDOOOODOOODLOOOLODOOOO
oobooooobooooboobooooboooooooo

oood oono




